C —— —cﬁ 2 10,5 mm D “‘ﬁ 2105mm —— 0 E F @@CUE ®

H@ <=0 © =

ES3
Wwg4
pe=—_=_~=_=3

3 12,5 mm

0
cmem




L G

D)

= -

D)

C = N

p—] =)

ES1/ES2

ES3

B2/ %82, Wg 4
L L

©) ® ¢ g

W | DL |
37-42 3x M6x50 37 - 42 |2x M8x55 + 1x M6x55
42 - 47 3x M6x55 42 - 47 |2x M8x60 + 1x M6x60
47 - 52 3x M6x60 47 - 52 |2x M8x65 + 1x M6x65
52 -57 3x M6x65 52 - 57 |2x M8x70 + 1x M6x70
57 - 62 3x M6x70 57 - 62 |2x M8x75 + 1x M6x75
62 - 67 3x M6x75 62 - 67 |2x M8x80 + 1x M6x80
67 -72 3x M6x80 67 - 72 |2x M8x85 + 1x M6x85
72-77 3x M6x85 72 -77 |2x M8x90 + 1x M6x90
77 - 82 3x M6x90 77 - 82 |2x M8x95 + 1x M6x95
82 - 87 3x M6x95 82 - 87 |2x M8x100+1x M6x100

HOPPE®

HOPPE Holding AG
CH-7537 Mustair
@ www.hoppe.com

3370 03/12 7204668

HOPPE




